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Experimental Problems. Language: English

1 ©odogmymo dybEo
1.1 dgbogowmo

93bmoo HgdEommzobo Q IgbEo ogxzodbodgogmos
LogdEob Gowmoey Yoobdo. IPHH0wEOb IMImdgdom =
©90dol  3oMomgmgMoe 9939096 gwgdH®mbgobl,
MMIY003 3o0PObEHYO00b PIMog dPbBYg o 91393006
930000. 99JdH®m™bgool  Lofgolo 3ZobgHozy®o
969M300b ©o Lofgobo ZMMOEOboEIOOL z; ©o ;-
L ggmomgoom o Lodmmmen 3mm®doobodgool
30%m3gom 93M0b%g zr @ yr, Lowoy gwadH®bgdo
9x0Bg000b g3MobL, dg90dmgds 30303M™M ©OdoCNYMO
d9boLb  Bmgogdmo doboboomgdgmo. 936060L
Loo®Eyg z ©9®dob JoMMMOYE0o ©d dmogLgdymoos
z = 0 Pg®dEomdo. LoboMggommo  303M©IM
989mxMmEoL 3oyobEzoL gmmIyYmo,

_ kq@Q 1
~ 2F tan(6/2)

Loog b - ©orobgool JoModgd®oo, E -
9m9JdH®mbol 306gHozatmo gbgdgos, ¢ = —1.602 x
107193-969dH®mmbol Igb@os, k& = 8.99 x 10° b3?/32
©o 0 3oxobpgol ggmbgo. oxobgool doModgEmo
M0l 30603 g®o dobdogmo bl o gemgdEH®®BL
dn®molb ®md o ymgowmoym PoOmoghmddgogds
© gmgdd®mbo dmdMomdgl HdEol golfgmog.
3090b6(30L  gymbg 0G0l gymbg  gmgdE®mbol
Lohgol Lohdodgle o goxobpgol d9doga Lodmemmm
Lobgdotgl dmmol

electron trajectory

1.2 ©5630emg0s

0dmEobs  dpgmdo®mgmol Moy dgodmgos  BYLFo
303mgmm @ dgbdob dEgostgmos (zg,yg,2q) ©O
dobo Loowg o bodobo. Ybwo ohgzgbmm mJggbl
390989030 dowgdgmo Loowygdolb FmMmdomydgool
®0g0b dggobgos. oMLYOMOL gogbol EFmdomygods,
Mndgmog 0030330090700 9m9dH®m™bgool
bogowol Lofyol dgooMgMooLbmob o dgowggbL
0,5 dd-VL.

OMa3m®3 gzgme gdudg®odgbydo ™Jgzgbh yboo
Poddmogobmm dmboggdmo gbMomygdo, 3Mex03900
©0 3odmygbgdymo gmdmdygmgoo, goleaggdo Mmd ogml
Mo go¥mdgm o MMgm® doowmgm 39093900.

1.3 30mgmodol 0bygdagolo

30mgMods 0mbmgl odohJomgoge doogol dgdwoggo
domomgoom

Beam accelerating voltage in V:

Enter a number between 1 and 10000, and press
return. The program then asks for the initial launch
coordinates, starting with z;, with the prompt

d9030bgm ®ogbgo 1-ob 10000-dg o osZ0oMgmM
bgmo return-lL.  dgdeggy 3MMgMeds dmombmgl
Lohgol 3mmmoboBgoL z;. o g3Meblg godmgs:

x-coordinate of the electron beam in cm:

d90Bobgm ®obgo -20-ob 20-dpg ©o oOZ0MgM
bgmo return-l. oMM IOMgBeds dmombmgl
3000©0bo@Eb:

y-coordinate of the electron beam in cm:

dg030bgom Mobgo -20-0ob 20-dg o oodoMgom
bgmo return-lL. oy mdzgb od Lodo dmmbBmzbowsb
390930bgm  oMoLHm®mo FogymMo, dodob I3OMgmodo
39%Y30:

Invalid entry.

©o dgdegg olgg dmombmgl Goibgzgool FgEobsl
dgbodemm  ©00308MbJo. Lodo gog®ol dgobol
9990093 30OMamMads godmo@obl

Electron beam fired with parameters (x, vy,
V) =

©o 0b o306 gowomgmol mdggbh dgBobogm
dmbogdgol, wo dgdwgg

Electron detected at (x, y) =

©o 0demg30 936006%g 9m9dEHO@bol
0080m3©Y00MIMOSL. dog®od  Bmgogdmo
953JEm™bo o6 dmbgogods Lab@ymo mdob g36obL,
®ob dgbobgool 3Mmamads ggBYz0m

Electron not detected...

9990093 3MMaModo godgmMEgos, Moy Lodyomgdol
dmgdggdm dgoggzebmm obogmo domedgEmgoo.

2 do30 gymo

2.1 dglLogomo

0J39b 3od3m 8p3o8a 89dobozgmo dogo  gamo,
Mmdgmog oMol m;  dobol  3mbEgobgdo.
3mb3gobgmol dogbom dmmoglbgoygmos my dolLol
6300 m0, Mmmdgmoy  hodmazopgogmos  Fgmlg
®0mJdol 9dobm odoomom, MmAwol Lobobgo ;.
dgmtdg mz dobol Hgodmo Hodm30gdYEos my dobob
6300mBg Lbgo YoM kz LobolEol Yoddomom. gzod3l
dgodg 0emobEo Bobybo, MMIYE0E VOAMI0JOYE0d
0009dB900Lb LohJomggobg. wgwodohol gMogoBoEos
g =9.81m/s? g9mol 3907900l JoMomgEmY@00.
gpmolb  dmd®omods  dggodmoom  Hgdmom  ob
J3gdmom domomgdgmo ohJomgoom. ohgomgool
domomgoo dggodmoom 3OMamadol Lbodyomgdoom.
odobmgol  gbo  dogmommm  bobgdHdwogmoo
(§039030) ©o ohJotgds ( 3/63%) mommgngm gBo3vg.
Lodygmopos gohggbgom “®gocmy® ®mdo” F dowol,
Mmdgmog  Lodommo  domomgdgmo  ohJomgool
dgbobombybgomo.  obggg gohggbgom wmMLog.
Lodygmopos obggg bhofgdl  obomgmgol  BgdLy
googmdo 03039 ROmEg®do  Lowoy 3MMZgModos

dmmoglgdygmo. 9390  Lbodygmopoo ©oofygdo
doligool gmmo o 0dogg Lofyobo gobmoggoom.
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d96008360: 43gemo F docmol goBmdgel odgb diodyg
d9dmbgggomo  gMdomgdo. B0ddoMgoo  om0ob
POgogo  Hoz®dgmgdol  @m3ozad  Qodawmgddo,
dogmod 0Moh®P03900 owo Hogmdgmgogdobomgol.
k1 ©0 ky 3063063 gonembo o600b, Gmgm®d3 Lobobdg
dgomyg Pogmdgmgogoobomgoly P@bolfmedmool
DadEomol do@odmdo, MmmEgbog gm0
30ohgMgomoo. F dowol o ohJo®mgool mogdomo
d03oOmmYmgos sMob 3gMBH03omPMo Bgdmm. gymol
339M0L LogMdge 0.63 o YPM0 MO30830MIYMO
domoglgogmos 3 dgH®oobo mmobol 3gbH®Jo.
9JL39™03gbE0 08EMIoHPYMo© LEYMEYOO MY YPmo
396OL 0b 003l ogRrobgds. ob My MmAgmody dolo
dogpebgdo ggmb ob Lbge dobol. boboplg 3Om3mME0s
oM oMo oEPM™O.

2.2 ©535¢g0o

®J396 89306g00m ooEZ0bmm yggme domodgpmo:
my, ma, ms3, ki, ko. oM bodo gomgdymbo

30dMM30MMm 3EMI0HOo.

MmgmbdE yzgmo gbdgmodgbddo, ®J3gb 9boo
Poddmogobmm d3oggomw 30530MI90mo
dmbogdgool b®Mowmgodo, 330030M© ZoRM®IYOYEO
300303900 o Logdo®olo 30dmygobgoo
ROOAYYO0m. Bomo goboggdo ogmb my Mo goBmdgm
©o Mmgmd dobggoom dgwgagoodwyg.

2.3 30mgmodoLb 0bHgdxagoLo

0300300390 3MMagMods ombmglb Momoigdol

39930b0L. godzm Lbgowolbge goMosbEo.

* d909430bgm mMo ®oEbgzo o osdoMgom return-L
Mmd ©oodomm ohJomgool dodpgz®dmoodo gMmo
93030. dogomomo: 1.5 -0.4
306390 ®mogbgo  Yboo 0yl  g@odol
bobg®dmogmos( duration) §Hodgodo. (9bgo
09l 0.01 H3-b xgMowo) o dgmbdg MoEbgo Ybwo
0gab ohJo®goo (acceleration) 3/§32 (9bwo 0gmL
4990093 069gM306d0 —30-00b 30-dcg).

* hofgbgm repeat(godgm®gos) o boFyMocnygdo
MoEbgo o oo3m03gm return-b G®mA goodgmdML
dmgdgog0goo, dogomomo: repeat 10

®obgo b603boglb ®odgbxg® ( number of
times) glypy®o Jdgogool godgmMgos.  yzgmo
3obdgmmgdomo  0Mdobgos  Pbo  oLMYMPgL
endrepeat (oLb®YmEgl godgmmgos) 0Mdobgoom
(oboemgm J39dmm).

» dgoygobgm  endrepeat  ®mJ
30bdgmdgdomo Jd9wg909060.00% ©000g4gom
9JL3gM0dgbBlb ygzgmo Jdgwgoe repeat-lLl ©o
endrepeat-lL dmMob godgmM©gos JoMOMYOYPYO
0Egbmoom. ®J3zgb o® dggodmoom goodgmdmm
(repeat) bLbgo godgm®dgool dogbom.

» dgoygobgm sample o Mogbgo wo ©oogobgm re-
turn Momo d9330™Mm EOM. dogomomo: sample

©0oLEOYE M

0.4
ab  ®ogbgo 0gbgdo obowo sampling time
o oMol  ®mol  0bggdzomo,  GmIgmo

063gd30momo  hoohgmgoo obomgmgdo H9JLy
gooedo. 030 9bwo oymL 0.01 H3d-b pgbowo. 0.01
fodo om0l mdgzgbo homggol gomgdg LB ebwo®dE ™o
sampling time.
» d90y30bgm begin ®m3 osbMYPmmm dgy3zobs o
©o0hymm gdLdgmodgb@o.
mJd3gb obggg dgaodmoom  ofghmm  0ggzdo
0Mdobgdo ghmbo o 0dogg botby o 9gdogg
©o0g0MOMmm return-L. dogomomo© Jdgaodmoom
d90930bmm:
sample 0.4 repeat 10 1.5 0.4 1.5 -0.4
endrepeat begin

Mmmd ©oohygmm 9JudgmodgbEo Lowoy ©MOMomo
06B9M30000 0.4 §3 o ohJodgom ygyml a = 0.4 3/3>
©o a = —0.43/§3% ohJo®g0gdmm smRI®.

0y d90yg0bm 0®MoLfm®o©
393003900086 gOHMgOHNL.

o 09 ohJo®goo LoBwgodL Lzgoe:

Acceleration is out of range.

o 09 ohgomgool bobgmdmogmodo LoBwgzo®mL Lizwgodo:

Duration is out of range.

e »9 obomgmgdol 0mgool 0bEgdzomo Lobmgo®dl

Lzgoe:

Sampling time is out of range.

* 9 30d9mmg0ogdol Moibgo LoBmge®ml Lzwgoo:

Number of repeat times is out of range.

e my d993®gd0m godgmmgosl Lbbgs godgmmgdol
dogbom:

Cannot repeat actions inside another

repeat.
0y 399309000 godgmdmgoos ©obMYPYmgool (en-

drepeat) obg ®md godgm®gds (repeat) oM
©08009g000m:

Cannot end repeat outside repeat.

* 9y39mo bbgo dgdmbgggodo:

Invalid entry.

Mmgbos dgoygebom begin-b 3Omg®mods dmgmbmgm
Lobgel goomolbmgol Mmdgemdos 9bwo HohgdmL
9JL39M0dgbE0L 9093900 o 93MObYY oofgmgdo:

Enter name for output file (e.g.
"results"). You should use Latin letters
and numbers because some special characters
are not allowed.

d90930bgm Lobgmo o oododgm return - L.
30Mhggm godmoygbmm dbmmmE wmomoby®do sbmgoo
©o M0obggoo Qoomol EoLobgmgdolmgol.  Lbgo

doowgdm
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Lodomemmgoo dg0dmgos 06 0gmb ©oLod3zg00 Goowol
Lobgmdo ©o 0bomgmgdo oM dgobobgods. obomgmgdo
dgobobggo .txt goomdo domomgdgmo Lobgmom
03039 BmEg®Jdo LowoE 3OMEModss dmmogbgoygmo.

0d0b 998093 3MMg®mods 3odm0Hobl:
Begin experiment.

©o ©o0PygoL gdbdg®odgbpl. 3Mmgmeds dgdwogg
330h39bgdLb  dodwobotg MML  9JLldgMmodgbEol
©009g90000b( Time (s)), dowmol sbomgowl (Force
(N)) ©o yggoob ohJomgdol (Accel (m/s”2)).
obomgmgoo  obommgoygMom  0gbgos  dmpgdymmo
®adbd goomdo.

3Mmamodo 399093 30dMoBobL 9OmgOH»
hodmmgmmoem dglogl
o 0y HomToBg00m ol Ymo:

Experiment ended successfully.
09 g9mo 39ML ogRobBo:

The box hit the ceiling. Experiment ended.
* 09 49m0 003o3L ogxobo:

The box hit the floor. Experiment ended.
e oy dobgoo 9gOmAobgml ogrobbgb ob gdmgdmo

dolo ggmb dogrobo:

Masses and/or the box collided. Experiment

ended.

After the experiment ends, you can start another
experiment. ®mEgbog 9Ju3gM0dgbEn LMY ®yds
3d980dm00m ©o0fymm oboamo gdLdgmodgb@o.



